Table 2.2

Exposure limit values for laser exposure to the eye — Short exposure duration < 10 s

4 Duration [s]
Wavelength * [nm] g
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304 g H=60[Jm"]; if1<1,3-10 then H=5,6- 101" [Jm" | see note "
305 s H=100[ m’ ift<1,0-10 thenH=5,6-10"¢"" | m”] see note
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307 5 e e H=250 ) m" ift<4,0-10"thenH=5,6-10"t"" | m” ] see note’
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e 1800 -2 600 § E=10"[Wm"] See note H=10"[m’] [ H=56:-10"4""m’]
2600-10" = E=10"[Wm’]Seenote" H=100m"] | H=56-10"1"" [ m’]
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If the wavelength of the laser is covered by two limits, then the more restrictive applies.

When 1 400<A<10° nm : aperture diameter = 1 mm fort < 0,3 sand 1.5 1" mm for 0.3 s <t < 10 s: when 10°<A<10° nm : aperture diameter = 11 mm.

Due to lack of data at these pulse lengths, ICNIRP recommends the use of the 1 ns irradiance limits.

The table states values for single laser pulses. In case of multiple laser pulses, then the laser pulse durations of pulses falling within an interval Ty, (listed in table 2.6) must be added up and the resulting time value must be filled in for t in the formula:
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